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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

07:25 213 130.0 28.08 FA| FnHA@07:25 KREFEFF (ARBIEREE
08:20 213 130.0 28.08 FA| FHA@08:20 KRENFEF (ARFIEEED)
09:35 213 130.0 28.08 FR| FHA@09:35 KRENFZF (KRFAIRE:S)
10:35 213 130.0 28.08 FH| FnHA@10:35 KREFEF (KAFERHE)
11:30 213 130.0 28.08 FA| FhHR@11:30 RHAMIEHF (RALESR)
12:20 213 130.0 28.08 FR| FHA@12:20 KREFZF (KRFAAEES)
13:10 213 130.0 28. 08 FH| FiHA@13:10 KREEF (KAFERHE)
14:05 213 130.0 28. 08 f| FiHR@14:05 REMIEHF (RALESR)
15:00 213 130.0 28.08 FR| FHA@15:00 KREFZF (KRFAEES)
16:10 213 130.0 28. 08 | FnHA@16:10 REFEF (REAERES)
21t 2130.0 (100%) 1300.0 32 3KEC: 2100.0, PH: 6.5

REXEPH (10.4) 5i87%EPH (6.4) REKK, BHRE
FEREPH (10.4) 5FPH (6.5 REKK, FHRE
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G3-1

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS e

07:55 133 100. 0 21.6 BH| 1Bi&@07:55 Bzh (RAERE)
08:55 133 100.0 21.6 FH| {Ri%@08:55 H#I (FRAIEEE)
10:10 133 100.0 21.6 FA| 1BRi%@10:10 B3h (KRAHEEE)
11:30 133 100.0 21.6 FA| 1B2i%@11:30 Bzh (RAERSE)
13:55 133 100.0 21.6 [K/| {Ri%e13:55 Bz (GRAEHSE)
2it| 665.0 (5/%) 500. 0 ZHKEC: 2100.0, PH: 6.4

RGBT R AR BN (200 vs 161.0))

BRIASEPRIERE124.0 ml.

large discrepency for begining water status (76:294.0), set to 76 ml.
REXEBIPH (10.37) H5i&EPH (6.3) RER KA, HFIRE
REXJEBIPH (10.37) 5FMPH (6.5) RERK, BFHRE
P[EIRECE (1897. 0 vs 2596.0) R
LRGEBPH (10.4) 5igEE (6.4) REKK, BHRE.

LERGEBIPH (10.4) S5iREEY (6.4) RERK, BHRE.
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BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:35 95 70.0 15.12 FA| 1B2i%@06:35 B3zh (KBRS
07:20 95 70.0 15.12 FE| 1BRi&@07:20 Bzh (RAAEREEE)
08:30 95 70.0 15.12 FA| 1BRi%@08:30 B3zh (FKA{EREEE)
09:35 95 70.0 15.12 FA| 1BRi&@09:35 B3h (FKA{EREEE)
10:30 95 70.0 15.12 FA| {Ri%@10:30 Bz (GkAMEEE)
11:15 95 70.0 15.12 FA| 1BRi&@11:15 B3h (KRAHEESE)
11:55 95 70.0 15.12 FH| 1BRi&e11:55 Bzh (GRAERESE)
12:35 95 70.0 15.12 FA| 1BRi%@12:35 B3h (RAERSE)
13:15 95 70.0 15.12 FA| 1BRi%@13:15 B3h (KRAHERSE)
14:00 95 70.0 15.12 FA| 1BRi%@14:00 B3h (kAEREE)
15:05 95 70.0 15.12 FA| 1BRi%@15:05 B3h (RABIERSE)
16:15 95 70.0 15.12 FA| 1BRi%@16:15 B3h (KRAERSE)
2it]1140.0 (12)%) 840.0 3ZHKEC: 2100.0, PH: 6.3

EREBAHC AR IRARRIEIN (127 vs 113.0))
ELIASSPRIERE79.0 ml.

REXFEBPH (10.34) 5i&%EPH (6.0) RER K, BFHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
BEEIRECE (1915.0 vs 3039.0) RS

EREBPH (10.4) 58 %E{E (6.3) RERKA, BERE.
ERGEBIPH (10.4) S5EREW (6.3) RERK, HRE.
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G3-1

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

06:55 95 60. 0 12. 96 F|  {Ri1%006:55 Bz (RF{ESE
07:30 95 60.0 12. 96 F[ BRi1%e07:30 Bz (GRAERSE)
08:25 95 60.0 12.96 = {RRiB008:25 B (RFAKEE)
09:10 95 60.0 12.96 (Z=| 1BRi%e09:10 Bzh (REERESE)
09:50 95 60.0 12.96 |Z=| 1BRi&e09:50 BHzh (REERSE)
10:25 95 60. 0 12.96 (Z=| {Ri%e10:25 Bz (REAEESE)
11:00 95 60.0 12.96 (Z=| {Ri%@11:00 Bz (REAFEHSR)
11:35 95 60.0 12.96 (Z=| 1BRige11:35 Bzh (REERESE)
12:15 95 60.0 12.96 |2 =| BRi%e12:15 Bz (kAFEREE)
12:50 95 60. 0 12.96 |Z=| 1BRige@12:50 Bzh (REERESE)
13:20 95 60.0 12.96 5| {Ri%e13:20 B3 (RAERSE)
13:50 95 60.0 12.96 = RRiB013:50 B (RFAEESE)
14:20 95 60. 0 12. 96 E BRige14:20 Bz CGRAEREE)
14:50 95 60. 0 12. 96 El BRi&e14:50 Bz GRAEREE)
15:20 95 60.0 12.96 =l RRiB015:20 B (REAEESE)
15:55 95 60.0 12. 96 = {RRiBe15:55 Bz (REAKEE)
16:35 95 60.0 12.96 | =| 1Ri%016:35 Bz (RAHEREE)
2it]1615.0 (170%) 1020.0 EWUGHIKEC: 2100.0, PH: 6.2

EORER AR EE TRy (0.57 vs 0.63), AIEEH L REEN EEEESKERR
ZRIASERRERES9. 0 ml.

FERZERPH (10.28) 5i&5EPH (6.0) REK K, BT

FEREIPH (10.28) 5FMPH (6.5 REKK, AT

R R i3k B RECE B Hh k.

HEEIRECZE (1947.0 vs 3498.0) 15

REXR EBLHHEREC/PHERR K, AIREZINIREDR K

LRGEBIPH (10.4) 5i8FEE (6.0) REKK, BFRE.

LEORGEEBIPH (10.4) S5iREGE (6.2) REK K, HEE.
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" BriE) | GEBATK(F) | EHRE(EH/AR) | EREE (G/R) [ KR R
06:10 67 40.0 8. 64 | 1Ri%e06:10 B (REAHERSR)
06:40 67 40.0 8. 64 5| 1RiR06:40 Bz (KRFEAEES)
07:10 67 40.0 8. 64 = {Rig@07:10 B3 (RAERSE)
07:45 67 40.0 8. 64 E BRi&e07:45 Bz (GRAERESE)
08:20 67 40.0 8. 64 =l {Ri%@08:20 B (RAERSE)
08:50 67 40.0 8. 64 5| 1Ri&e08:50 Bz (KRFEEES)
09:25 67 40.0 8. 64 E BRi&e09:25 BEh (RAERE)
09:55 67 40.0 8. 64 5| {Ri%@09:55 B3 (FRAERSE)
10:25 67 40.0 8. 64 =l RRiB010:25 B (REAEESE)
10:55 67 40.0 8. 64 5| {Ri%@10:55 B3 (RAERSE)
11:25 67 40.0 8. 64 El Rige11:25 Bz CGREERSE)
11:55 67 40.0 8. 64 =l {Rige11:55 B3 (RAERSE)
12:25 67 40.0 8. 64 Sl {Rige12:25 B3 (REAERSE)
12:55 67 40.0 8. 64 E| {Rige12:55 Bah (RE{ERESE)
13:25 67 40.0 8. 64 F| {Rige13:25 Bah (RE{EREE)
13:55 67 40.0 8. 64 S| {Rig@13:55 B (RAERSE)
14:25 67 40.0 8. 64 E BRige14:25 Bz (GRAERSE)
14:55 67 40.0 8. 64 F BRige14:55 Bz GRAERESE)
15:25 67 40.0 8. 64 = {Rige15:25 B3 (RAERSE)
15:55 67 40.0 8. 64 E BRi&e15:55 Bz (GRAERERE)
16:25 67 40.0 8. 64 5| {Ri%e16:25 Bz (GRAMERSE)
16:55 67 40.0 8. 64 = RRiB016:55 B (RFAKEE)
17:25 67 40.0 8. 64 E BRige17:25 Bz (GRAERESE)
17:55 67 40.0 8. 64 5| 1Rike17:55 B (REAERES)
21t 1608.0 (24)%) 960. 0 EWGHIKEC: 2100.0, PH: 6.1

EORGEBIREL RN (0.48 vs 0.64), AIREE S RREES EEEESKESRE
MERRHLEME STHAEAREY (32.0 : 41.0), HEEKEETERE
ZRINKPRIEBRL41.0 ml.

BEREBIPH (10.29) 5i&EPH (6.0) REK K, HRE
FEREIPH (10.29) 5FPH (6.5) {REK K, FHRE

BE X i# B RECE IR Hh k.

[{&REC 3956.0 K5, EiNF{RKECAE&HRER

FH[EHECE (1987.0 vs 3956.0) 45
REXREBT I HEREC/PHER K, FIREINIRAR R

FURGERIPH (10.2) 58 FEE (6.0) REK K, BT,
LEORGEEBIPH (10.2) S5#EAVGE (6.1) REK K, BRE.
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